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Across

5. This inlcudes the

three phases: G1, S and
G2.

10. Interphase is not
included in

11. This contains two
complete sets of
chromosomes.

12. This duplicates during
Synthesis.

Down

1. Half of the

parents are
passed to the offspring.
2. The union of sperm
and egg.

3. The type of

reproduction that requires
two parent cells .

4. What is the process

by which cellular material
is divided between two
new daughter cells?

6. How many times does
a diploid cell divide to
produce four cells?

7. Sex cells (ex. Egg and
sperm)

8. Afertillized egg.

9. How many chromatids
are tetra's consisted of?

Create your own puzzle at WordMint.com or print one of our 500,000+ pre-made word searches, crosswords, and more.



